
                                                                                    

LIBRETTO RICAMBI 
SPARE PARTS LIST 
ERSATZTEILLISTE 

CATALOGUE PIECES DE 
RECHANGES 

MTC 620
Reverso

    MOTOCOLTIVATORE
 MOTOCULTIVATOR 
EINACHSSCHLEPPER 

MOTOCULTEUR 

  (2015)

































































































Pos. Q.tà Codice Denominazione Pos. Q.tà Codice Denominazione

1 1 5.CH.134.00 Cofano motore 8 2 6.CT.219.00 Distanziale filettato h25
2 2 6.GL.002.00 Piatto fissaggio gomma 9 2 3.931.285.T Vite TE M8x16
3 3 3.970.335.T Vite TC M5x20 10 2 3.710.108.T Rondella Ø8 ondulata
4 6 3.320.102.T Dado M5 h 6,8 autobloccante 11 2 3.030.115.T Antivibrante
5 1 6.CR.001.00 Cerniera in gomma 12 2 3.322.104.T Dado M8 autobloccante
6 3 3.971.336.T Vite TCBB M5x20 13 1 6.GR.065.00 Piatto filettato
7 1 5.HT.401.00 Supporto cofano 14 2 3.950.230.T Vite TSPEI M8x16

3.340.622.0 Decalco  'Meccanica Benassi' 
3.340.604.0 Decalco sigla "L"
3.340.670.0 Decalco grigia frontale
3.340.695.0 Decalco 620 per MTC
3.340.694.0 Decalco "Made in Italy"
3.340.645.0 Decalco MB tonda
3.340.623.0 Decalco marcatura CE

MTC 620  GRUPPO COFANO MOTORE
LOMBARDINI 15LD440  



Spare parts orders must be addressed to:

Descriptions, drawings and technical specs hereby mentioned might differ from the actual product. 

Please provide:

DOSSO (FERRARA) - ITALY 
Via Statale n°325 – Tel. +39 0532/848193 
www.benassi.it    email: info@benassi.it

ricambi@benassi.it 

a) Engine model
b) Serial number of the machine
c) Position, part number & name of the item
d) Quantity of interest




